fisling Connectons
_M-Z 100(0.87)"/2

Coffee, Tea, and Hot Chocolate contain caffeine.

The expression 100(0.87)!2

represents the percent of caffeine
left in your body 1/2 hour after you
drink a caffeine beverage

How can you estimate the value of 0.871/2



Leits Talid & Goser Loak!

Fill in the chart. (You can use your calculator!!)
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Our Conclusion

Raising a number to an exponent of 1/2
is equivalent to taking the square root!

Raising a number to an exponent of 1/3
is equivalent to taking the cube root!
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_ Practice ‘uestions

Calculate each of the following without using a calculator:

271/3 10012 161/4

3 Jloo Yle
=3 =10 TN



=y Calculate each of the following
without using a calculator:
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Calculate each of the following

without using a calculator: 0
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Write as a power:
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Calculate each of the following
without usi M% a calculator
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Check out page 227.
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